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TREOBBIEYREYOM EIERT S | L EZEORBICEYREYOM EEITERT S T REOBBILYREYOM FEITERTS | tEZORBICEIYBEY O EERICERT S
LREEND S LREIND S LHEEIND S LHEEIND S
:I:E%d)(*z%])%ét; . :I:E%a)(ﬁ%m%éb% DR
TmUTDEE. LR . TRFEDOHBEOTIN . TmMUTOEE. £H N TREDHEOSIN .
. DEFICLD A ThENORE |5 s 2 TSRS . DEBI=LBHA ThENORSE |3 2 2R TR DR
HEWRAROREM | 00k mo% 122 BE TRETRERORE |100kN/mo%#E % HE
HOKRES 1FHRE |hOKRES 1EE |HOAES 1E%E |HoxEs tE% ADKES 1EZE [hokzs tE%E |hokEs tEE |h0okES 1HRZ
N3LRA OBEE |0558kx oBE |05LBA 0B |05HRK 0B N3LBA OB |0358Kx oBE 038X 0B |05H8BK 0B
NED NED NED NED [DEN)) nHED nHED nHED
(kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m)
1 ~ 2 153.18 | 1.00 | 10000  1.00 - - 16.95 3.00 ~
2 ~ 3 14650 = 1.00 | 10000  1.00 - - 16.94 3.00 ~
3 ~ 4 14937 = 100 | 10000  1.00 - - 16.95 3.00 ~
4 ~ 5 15387 | 1.00 | 10000  1.00 19.95 3.53 16.95 3.00 ~
6 ~ 7 — — — — — — — — ~
8§ ~ 9 - - 67.75 1.00 - - 10.73 1.90 ~
10 ~ 11 = = 79.29 1.00 = = 9.63 1.71 ~
11~ 12 - - 79.29 1.00 - - 10.18 1.80 ~
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